





X Math@MUT XXXXXXXXXXXXKXXXXXKXKXXXXXKKXXXXKKXKXXXKKKXXXKKK KX KKK KX KKKK KX KKK KKK KKK KKK KKK KKK KKKKKKKKKKKKKK6300111-00002XX

Matrices02 for No.2

A=[-11],B=[13],C=

AbOQ::[dm([Z

—3x+y=25

SySteMI:[2x+5y=6
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}, , System?2 = [
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j=0:|,N010= det

~4x+y=16 |

5x—4y=41]
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3x+2z=-8 3y-3z=9
,System3=2x-2y=-8 | ,System4={—x+3z=10
2y-2z=12 x+2y=16
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Matrices02 Answers for No.2
ExerciseMatrices02 Answers for No.2

01 : det(pA) = -11 02 : det(B) = 13

03 : det(C) =4 04 : det (D) = 96

05 : det(E) = 66 06 : det(F) = -116

07 : m*det (C)-det (pE) = -4212 08 : det (m*D)-p*det (F) = 1328
09 : x = -4 10 : vy =3
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Noll =| Inv(G) = , ,
0 v(G) i i
13 13
12 : det(nA) = -17 x = =7 y = 4
13 : det(pn) = 21 X -5 y = -4
14 : det(A) = 4 x = 2 y = 6 = 7
15 : det(A) 15 X = 2 y =7 7z = 4
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